
 Njh;T vz; 
          

 

muR Nky;epiyg; gs;sp - ,uhkpak;gl;b 

jpUg;Gjy;  Njh;T -  brk;gh; - 2021 

tFg;G : 10                            fhy msT : 1.30 kzp Neuk; 

ghlk; : fzpjk;                                                     nkhj;j kjpg;ngz;fs; : 50 

__________________________________________________________________________________________ 

mwpTiufs; : ( 1 ) midj;J tpdhf;fSk; rhpahf mr;Rg; gjpthfp cs;sjh vd;gjid     

                            rhpghh;j;Jf; nfhs;sTk;. mr;Rg;gjptpy; FiwapUg;gpd; miwf;     

                            fz;fhzpg;ghshplk; cldbahf njhptpf;fTk;. 

     ( 2 ) ePyk; my;yJ fUg;G ikapid kl;LNk vOJtjw;Fk; mbf;NfhbLtjw;Fk;  

                            gad;gLj;j Ntz;Lk;. glq;fs; tiutjw;F ngd;rpy; gad;gLj;jTk;. 

Fwpg;G  : ,t;tpdhj;jhs; ehd;F gFjpfisf; nfhz;lJ. 

gFjp – I 

Fwpg;G  : ( i ) midj;J tpdhf;fSf;Fk; tpilaspf;fTk;.                                            𝟕 × 𝟏 =  𝟕 

     ( ii ) nfhLf;fg;gl;l ehd;F tpilfspy; kpfTk; Vw;Gila tpilapid Njh;e;njLj;J     

                   FwpaPl;Lld; tpilapidAk; Nrh;j;J vOjTk;. 

1. 𝐴 =  { 1 , 2 , 3 , 4 , 5 }   − ypUe;J 𝐵  vd;w fzj;jpw;F 1024 cwTfs; cs;sJ vdpy; 𝐵 − y; 

cs;s cWg;Gfspd; vz;zpf;if 

 ( m ) 3   ( M )   2   ( , ) 4   ( < )  8 

2. 𝑛 ( 𝐴 )  =  𝑚  kw;Wk; 𝑛 ( 𝐵 )  =  𝑛 vd;f. 𝐴  – ypUe;J 𝐵 –  f;F tiuaWf;fg;gl;l ntw;W  

fzkpy;yhj cwTfspd; nkhj;j vz;zpf;if 

 ( m ) 𝑚𝑛    ( M )   𝑛𝑚    ( , ) 2𝑚𝑛 − 1 ( < )  2𝑚𝑛  

3. ( 𝑎 +  2 , 4 )  kw;Wk; ( 5 , 2𝑎 + 𝑏 ) Mfpa thpirr;Nrhbfs; rkk; vdpy; ( 𝑎 , 𝑏 ) vd;gJ 

 ( m ) ( 2 , − 2 )  ( M )   ( 5 , 1 )  ( , ) ( 2 , 3 )  ( < )  ( 3 , − 2 ) 

4. 1 Kjy; 10 tiuAs;s ( ,uz;L vz;fSk; cl;gl ) midj;J vz;fshYk; tFgLk; 

kpfr;rpwpa vz; 

 ( m )  2025    ( M )   5220  ( , ) 5025  ( < )  2520 

5. xU $l;Lj;njhlh; thpirapd; 6 tJ cWg;gpd; 6 klq;Fk; 7 tJ cWg;gpd; 7 klq;Fk; rkk; 

vdpy; , mf;$l;Lj; njhlh;thpirapd; 13 – tJ cWg;G 

 ( m )  0   ( M )   6   ( , ) 7   ( < )  13 

6. 𝑥 + 𝑦 − 3𝑧 = −6 , −7𝑦 + 7𝑧 = 7  ,   3𝑧 = 9  vd;w njhFg;gpd; jPh;T 

 ( m )  𝑥 = 1 , 𝑦 = 2 , 𝑧 = 3     ( M )   𝑥 = −1 , 𝑦 = 2 , 𝑧 = 3 

 ( , ) 𝑥 = −1 , 𝑦 =  −2 , 𝑧 = 3    ( < )  𝑥 = 1 , 𝑦 = 2 , 𝑧 = 3 

7. 𝑥2 − 2𝑥 − 24   kw;Wk; 𝑥2 − 𝑘𝑥 − 6 −  apd; kP.ngh.t   𝑥 –  6   vdpy; , 𝑘 – apd; kjpg;G 

 ( m )  3   ( M )   5   ( , ) 6   ( < )  8 

gFjp – II 

Fwpg;G  : vitNaDk; 5 tpdhf;fSf;F tpilaspf;fTk;. tpdh vz; 14 – f;F fl;lhakhf      

            tpilaspf;fTk;.                                                                                  𝟓 × 𝟐 =  𝟏𝟎     

8. 𝐵 ×  𝐴 = { (− 2 , 3 ),   −2 , 4  ,   0 , 3  ,   0 , 4  ,   3 , 3  ,   3 , 4  }  vdpy; 𝐴 kw;Wk; 𝐵 

Mfpatw;iwf; fhz;f. 
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9. ( 𝑥  2 –  3𝑥 , 𝑦  2  +  4𝑦 )  kw;Wk; ( − 2 , 5 ) Mfpa thpirr; Nrhbfs; rkk; vdpy; 𝑥 kw;Wk; 𝑦 - If; 

fhz;f. 

10. xU eghplk; 532 G+e;njhl;bfs; cs;sd.mth; thpirf;F 21 G+e;njhl;bfs; tPjk; mLf;f 

tpUk;gpdhh;.vj;jid thpirfs; KOik ngWk; vdTk; kw;Wk; vj;jid G+e;njhl;bfs; 

kPjkpUf;Fk; vdTk; fhz;f. 

11. 3 , 6 , 9 , 12 ,  …………., 111 vd;w $l;Lj; njhlh;thpirapy; cs;s cWg;Gfspd; 

vz;zpf;ifiaf; fhz;f. 

12. jPh;f;f : 2𝑥 − 3𝑦 = 6 , 𝑥 + 𝑦 = 1 

13. 2𝑥2 –  5𝑥 –  3 , 4𝑥2 –  36 – d;  kP.ngh.k fhz;f. 

14. 1  , −1  , 1 , −1 , 1 , − 1 ,…… vd;w njhlh;thpir xU $l;Lj; njhlh;thpirah vdr; 

Nrhjpf;f. 

gFjp – III 

Fwpg;G  : vitNaDk; 5 tpdhf;fSf;F tpilaspf;fTk;. tpdh vz; 21 – f;F fl;lhakhf      

            tpilaspf;fTk;.                                                                                    𝟓 × 𝟓 =  𝟐𝟓 

15. 𝐴 vd;gJ 8 – I tplf; Fiwthd ,ay; vz;fspd; fzk;. 𝐵 vd;gJ 8 – I tpl Fiwthd 

gfh  vz;fspd; fzk; kw;Wk; 𝐶 vd;gJ ,ul;ilg;gil gfh vz;fspd; fzk; vdpy;  

fPo;fz;ltw;iwr; rhpghh;f;f. 

( 𝑖 )  ( 𝐴  𝐵 )  ×  𝐶 =   ( 𝐴 ×  𝐶 )  ( 𝐵 𝑥 𝐶 ) ( 𝑖𝑖 ) 𝐴 × ( 𝐵 –  𝐶)  =  ( 𝐴 ×  𝐵 ) – ( 𝐴 ×  𝐶 ) 

16. 𝐴 =  { 1 , 2 , 3 } , 𝐵 =  { 2 , 3 , 5 } , 𝐶 =  { 3 , 4 } kw;Wk; 𝐷 =  { 1 , 3 , 5 } vdpy;  

( 𝐴 ∩  𝐶 )  ×  ( 𝐵 ∩  𝐷 )  =  ( 𝐴 ×  𝐵 )  ∩ ( 𝐶 ×  𝐷 ) vd;gJ cz;ikah vd Nrhjpf;fTk;. 

17. xU $l;Lj; njhlh;thpirapy; mike;j mLj;jLj;j %d;W cWg;Gfspd; $Ljy; 27 kw;Wk; 

mtw;wpd; ngUf;fw;gyd; 288 vdpy;, me;j %d;W cWg;Gfisf; fhz;f. 

18. xU $l;Lj; njhlh;thpirapd; 6 – tJ kw;Wk; 8 – tJ cWg;Gfspd; tpfpjk; 7 ∶  9 vdpy;,  

 9 – tJ kw;Wk; 13 – tJ cWg;Gfspd; tpfpjk; fhz;f. 

19. Ie;J , gj;J kw;Wk; ,UgJ &gha; Nehl;Lfspd; nkhj;j kjpg;G ` 105 kw;Wk; nkhj;j 

Nehl;Lfspd; vz;zpf;if 12. Kjy; ,uz;L tif Nehl;Lfspd; vz;zpf;ifia 

,lkhw;wk; nra;jhy; Ke;ija kjpg;ig tpl ` 20 mjpfhpf;fpwJ vdpy;, vj;jid Ie;J , gj;J 

kw;Wk; ,UgJ  &gha; Nehl;Lfs; cs;sd ? 

20. tFj;jy; Kiwapy;;; th;f;f%yk; fhz;f. 37𝑥 2 − 28𝑥 3 + 4𝑥 4 + 42𝑥 + 9  

21. gpd;tUk; %d;W khwpfspy; mike;j Nehpa rkd;ghl;L njhFg;gpidj; jPh;f;f. 

 3𝑥 –  2𝑦 +  𝑧 =  2 ,   2𝑥 +  3𝑦 –  𝑧 =  5  , 𝑥 +  𝑦 +  𝑧 =  6 

gFjp – IV 

Fwpg;G  : fPo;f;fz;l tpdhtpw;F  tpilaspf;fTk;.                                                 𝟏 × 𝟖 =  𝟖 

22. ( m )  𝑥2 +  𝑥 − 12 = 0 vd;w ,Ugbr; rkd;ghl;bd; jPh;Tfspd; jd;ikia tiuglk; %yk;  

Muha;f. 

( my;yJ ) 

 ( M )  𝑦 = 𝑥2 − 4   vd;w tiuglk; tiue;J mjid  gad;gLj;jp  𝑥2 −  𝑥 − 12 = 0   vd;w  

rkd;ghl;il jPh;f;f. 
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